N =

2000 = =0l & 2 BHa A
AN A2 =X

g otssAsd
eel Ots= A =20XE

O & AP & & A

A

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
A3l = X 1t 37,929,853 35,002,453 2,927,400
= 15,293,826
s 7,000
Il 19,243
= 1,010,962
& 7,051,746
Al 14,547,076
Ots=XS2 2,265,672 2,664,179 A 398,507
= 255,507
&2 568,533
= 618,525
Al 823,107
ots=X 2 LXH 368,613 409,740 A41 127
= 255,507
= 56,553
Al 56,553
YAols 25 XA 7,200 4,800 2,400
= 5,040
& 1,080
Al 1,080
301 Lptsaazg 7,200 4,800 2,400
= 5,040
& 1,080
Al 1,080
01 A2 HE =03 7,200 4,800 2,400
Ogyots L= 7,200,000& 7,200
= 5,040
< 1,080
Al 1,080
OS2 EX& AHXXH 30,240 19,440 10,800
= 21,168
= 4,536
Al 4,536
301 ptsazg 30,240 19,440 10,800
= 21,168




SA
X XH .
(=

chel:

At = X ot
ors=Xsd
Ots=X =10X&

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

301 getEazg < 4,536
Al 4,536

01 AM3B2EH=EZ3 30,240 19,440 10,800
OOts<EXI& HEHXA 30,240,000& 30,240
= 21,168
= 4,536
Al 4,536

XNEotsdH 22 99,271 79,200 20,071
= 49,635
= 24,818
Al 24,818

307 gQIz2told 99,271 79,200 20,071
= 49,635
= 24,818
Al 24,818

02 BltFAE=X 99,271 79,200 20,071
OX<%0tsdH 23 99,271,000& 99,271
= 49,635
& 24,818
Al 24,818

OtS =Xl ALXI & 49,440 96,000 246,560
= 34,608
& 7,416
Al 7,416

307 giz2told 49,440 96,000 246,560
= 34,608
& 7,416
Al 7,416

02 QIS X 49,440 96,000 A 46,560
OO0tS=RI W ALAI & 49,440,000 49,440
= 34,608
& 7,416
Al 7,416

Ots=EXAIE =0l 173,330 163,500 9,830
= 138, 664




SA
X XH .
(=

chel:

At = X ot
ors=Xsd
Ots=X =10X&

SN HH G (EH) - MBAY - BYS Ak e 2

OEs=XAE 20| = 17,333
Al 17,333

307 glz2told 173,330 163,500 9,830
= 138,664
& 17,333
Al 17,333

02 QtFAE X 173,330 163,500 9,830
OO0ts=EXAIE=0HI 173,330,000 173,330
= 138,664
= 17,333
Al 17,333

AL ots dFEXZ(F) 9,132 9,132 0
= 6,392
= 1,370
Al 1,370

301 YBtEa= 9,132 9,132 0
= 6,392
& 1,370
Al 1,370

01 AMIE2HEESH3 9,132 9,132 0
OHEMHYL0ls dEELS 9,132,000& 9,132
= 6,392
= 1,370
Al 1,370

Ots=X LBtR=A 1,847,059 1,928,439 281,380
= 568,533
& 561,972
Al 716,554

EA0ts ANEZEZ 8,000 28,000 220,000
= 2,000
= 2,000
Al 4,000

301 YBtEa= 8,000 28,000 220,000
= 2,000
& 2,000

w




AN A2 =X
g otssAsd

o9 OIS=X LUK (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YBtEa= Al 4,000
01 A2 HE =03 8,000 28,000 220,000
OElA0ts KSHEXHZ(0ILAR)
8,000,000& 8,000
& 2,000
= 2,000
Al 4,000
IEAEL=EXE 20,160 18,480 1,680
&2 9,720
= 2,016
Al 8,424
301 ptEas 20,160 18,480 1,680
= 9,720
= 2,016
Al 8,424
01 A2 H =0z 20,160 18,480 1,680
ONEAS LK 2 (0l LALR) 20,160,000& 20, 160
& 9,720
< 2,016
Al 8,424
EN S ENE W PSP 9,240 10,920 21,680
&2 8,000
= 924
Al 316
301 ptEas 9,240 10,920 21,680
&2 8,000
= 924
Al 316
01 AI2EHE =63 9,240 10,920 21,680
OLEHAEINE X2 (0 LAIR) 9,240,000& 9,240
=2 8,000
o= 924
Al 316
A2EAEHIIEYINNEAE Ot S K& 11,720 11,878 A 158
& 5,860
Al 5,860




AN A2 =X
g otssAsd

o9 OIS=X LUK (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YBtEa= 11,720 11,878 A 158
& 5,860
Al 5,860
01 A2 E =03 11,720 11,878 A 158
OAEAUEIE & IHYLAE0S XA (0l
AHR) 11,720,000& 11,720
= 5,860
Al 5,860
ZA0tssSAX#E 605,620 555,710 49,910
2 185,600
L= 194,560
Al 225,460
301 YBtEa= 605,620 555,710 49,910
2 185,600
= 194,560
Al 225,460
01 A2EA53 605,620 555,710 49,910
OZAOISZ AR (01 LAR)
605,620,000& 605,620
& 185,600
= 194,560
Al 225,460
ZAtssS AR (RS SESIAH) 186,200 182,875 3,325
= 186,200
301 Lptsazg 186,200 182,875 3,325
& 186,200
01 Al2HA53 186,200 182,875 3,325
OZ40ts =24 186,200, 000& 186,200
= 186,200
Ots=EXANE2Y 770,314 863,067 A92,753
2 363,213
& 115,547
Al 291,554
307 glz2told 770,314 863,067 A92,753
&2 363,213
= 115,547




AN A2 =X
g otssAsd

o9 OIS=X LUK (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told Al 291,554
02 plztFaEx 770,314 863,067 AN92,753
OO0tS=XAIE2Z (01 2AIR)
770,314,000& 770,314
& 363,213
< 115,547
Al 291,554
Ots=XAIE0ts K& 121,685 144,669 A22,984
L= 36,505
Al 85,180
307 QIZ2t0IA 121,685 144,669 A22,984
& 36,505
Al 85,180
02 QItFAE X 121,685 144,669 A22,984
OOtS=XAIE OIS XIZ (0l FAR)
121,685,000 121,685
= 36,505
Al 85,180
Ots=XNAESARNES=I2R2SY 50,400 56,400 26,000
= 15,120
Al 35,280
307 QIZ2t0IA 50,400 56,400 26,000
& 15,120
Al 35,280
02 QtFAEX 50,400 56,400 26,000
OOIS=XAE EMT S+224Y
50,400,000& 50,400
= 15,120
Al 35,280
Ot= & ALK& 52,920 42,040 10,880
201 L3 H| 7,720 7,640 80
01 AtS2eld] 7,600 7,640 A40
Ol0tsz4A Algwed HZ 4,800,000& 4,800
Olts®ds R 70,0003 10 *43] 2,800
02 23293l 120 0 120
O=g0eol=0Id dJIe= 120,000& 120




2AM: AtRIS X0
B OS=AEH
CH9l: OFS =X 28X

_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
301 YerEaa 11,200 0 11,200
09 BA2RQALHS 11,200 0 11,200
O3ozeaed A 5,0002 +8% »2802 11,200
307 212+0I 34,000 34,400 £ 400
04 QIZIBARE 34,000 34,400 400
OO0l2I01g AN X & 30,000,000 30,000
OAN&OIS 021012 BAZ Il X
2,000,0008 2,000
OANHOIS MKUS &K 2,000, 0002 2,000
NASS0lS s&=20) 10,800 14,400 13,600
= 3,240
Al 7,560
307 212+0I 10,800 14,400 3,600
= 3,240
Al 7,560
S EIEPNES 10,800 14,400 3,600
ONASS0IS S8E201(E)
10,800, 0002 10,800
= 3,240
Al 7,560
EEIBIEE T 50,000 326,000 276,000
SYOI0IS0IH Hes 50,000 25,000 25,000
401 A&HILSHY 50,000 25,000 25,000
01 A&t 50,000 25,000 25,000
OS0I0Is0IH HE+ 50,000,0002 50,000
ool =SNSA 3,841,646 3,006,320 745,326
=2 373,726
= 290,503
= 833,422
Al 343,905
ZoHoI=X 20X 980,126 1,335,785 644,341
2 373,726
= 297,450
Al 308,950
= JUEAEINE 214,286 840,000 374,286




SH: ARSI XD
& Zojel =2XEA

chel: Zojel=x 2R CORE]
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

PSR = N = 850,000
= 182,143
Al 182,143

301 LetEAa3a 1,214,286 840,000 374,286
= 850,000
== 182,143
Al 182,143

01 A E&EE56= 1,214,286 840,000 374,286
O&MH+= 1,214,286,000& 1,214,286
= 850,000
o= 182,143
Al 182,143

H00ls 2LY 128,572 108,000 20,572
= 90,000
& 19,286
Al 19,286

301 et8A= 128,572 108,000 20,572
= 90,000
= 19,286
Al 19,286

01 AIIEEE06= 128,572 108,000 20,572
O&FMOtSs F&=E 128,572,000 128,572
2 90,000
= 19,286
Al 19,286

ORI X W = H| 6,250 1,485 4,765
= 5,000
Al 1,250

301 dEE8AZ 6,250 1,485 4,765
= 5,000
Al 1,250

01 AIIEEE06= 6,250 1,485 4,765
OZofel Xt =] 6,250,000 6,250
= 5,000
Al 1,250




¢ ARl =Xt
Y =SXSH
D EMY=EX 20X

SN I SRI(S) - NRAY - B sk Soe B RS2

ZoHel o2 HIX& 45,000 18,900 26,100
= 36,000
Al 9,000

301 erEa= 45,000 18,900 26,100
= 36,000
Al 9,000

01 AIE2EHE =63 45,000 18,900 26,100
OOl oj=Hl XA 45,000, 000& 45,000
= 36,000
Al 9,000

ZOHQIHEERI P w2 6,250 3,920 2,330
= 5,000
Al 1,250

301 Lptsazg 6,250 3,920 2,330
= 5,000
Al 1,250

01 A2 H =0z 6,250 3,920 2,330
QT THEEXRDI|F w2 6,250,000& 6,250
= 5,000
Al 1,250

ZOH SE &I 555 530 25
= 277
= 139
Al 139

301 Lptsasg 555 530 25
= 277
= 139
Al 139

01 A2 =0z 555 530 25
Ol SE&HHI 555,000& 555
= 277
< 139
Al 139

ST 2SEXXNIAMNY 438,813 288,625 150, 188
= 307,169




SH: ARSI XD
& Zojel =2XEA

cHol: FojeI=SX 2D (SHol:®el)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ST 2SEXXNIAMNY S 65,822
Al 65,822
307 QI2toIA 438,813 288,625 150, 188
= 307,169
= 65,822
Al 65,822
02 QtFAE X 438,813 288,625 150, 188
OSSTM ESEXHAY
438,813,000& 438,813
= 307,169
= 65,822
Al 65,822
ZOHISRIL Rtel X & 38,700 23,025 15,675
= 19,350
L= 9,675
Al 9,675
101 Q12| 38,700 23,025 15,675
= 19,350
= 9,675
Al 9,675
10 JIZAH22ASES 38,700 23,025 15,675
OHOMA=XLXtel X& 38,700,000& 38,700
2 19,350
< 9,675
Al 9,675
O == TXIME E<ROIXE 51,300 51,300 0
= 25,650
& 12,825
Al 12,825
101 el 51,300 51,300 0
= 25,650
= 12,825
Al 12,825
10 JIZAH22ASES 51,300 51,300 0
OROHIZEBINXIME 20X
51,300, 000& 51,300




SA
X XH .
(=

chel:

At = X ot

Zojol =X
Zojor=x 2N

SN C(BH) - NRAY - HES Aro e
= 25,650
= 12,825
Al 12,825
ZOHOotES MEXZ HI2H AL 50,400
= 35,280
= 7,560
Al 7,560
307 212+0 50,400
= 35,280
= 7,560
Al 7,560
02 2IZt2 50,400
OZ0otEs MEXZ HIRH 50,400, 000& 50,400
= 35,280
& 7,560
Al 7,560
ZOHeI =X LEHX& 1,672,228
= 230,593
& 490,253
Al 951,382
SHl ZHOoH= 172,800
& 51,840
Al 120,960
301 et 172,800
= 51,840
Al 120,960
01 At 172,800
O&Hl 172,800, 000& 172,800
== 51,840
Al 120,960
Hars &0 25,615
& 7,685
Al 17,930
301 LBt A 25,615
& 7,685

_11_




SH: ARSI XD
Ha: Zojel =2XEA

chel: Dojol=X LR LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YBtEa= Al 17,930
01 A2 HE =03 25,615 27,250 A 1,635
OMASHEML of=Hl X& 25,615,000& 25,615
= 7,685
Al 17,930
o =X224 726,267 705,113 21,154
= 187,578
& 217,880
Al 320,809
307 QIt0IA 726,267 705,113 21,154
= 187,578
& 217,880
Al 320,809
02 glztHaEx 726,267 705,113 21,154
OZeI=X2 23 726,267,000& 726,267
= 187,578
< 217,880
Al 320,809
HASEHI=HEZ M AL 19,000 20,000 21,000
L= 5,700
Al 13,300
301 YBtEa= 19,000 20,000 A 1,000
= 5,700
Al 13,300
01 A2 HE =03 19,000 20,000 A 1,000
OMASEON ZHEHINM AL
19,000,000& 19,000
= 5,700
Al 13,300
MASHMHARSAMEES 16,800 15,246 1,554
L= 5,040
Al 11,760
301 YBtEa= 16,800 15,246 1,554
& 5,040
Al 11,760




SH: ARSI XD
Ha: Zojel =2XEA

CHol: DOOIS R XA (S &
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
TIEEEEEY E 16,800 15,246 1,564
OZ0iOl REMSEZ 16,800,000 16,800
< 5,040
Al 11,760
HHQEI2EALRY 87,533 79,000 8,533
= 8,930
< 26,260
Al 52,343
307 SI2t0IH 87,533 79,000 8,533
= 8,930
= 26,260
Al 52,343
02 QIABATE 87,533 79,000 8,533
OFMQ SII2BAE 2 87,533,000 87,533
= 8,930
= 26,260
Al 52,343
HHQUFEARSALLY 66,267 58,352 7,915
= 12,486
= 19,880
Al 33,901
307 Q120 M 66,267 58,352 7,915
= 12,486
= 19,880
Al 33,901
02 SABAEE 66,267 58,352 7,915
OXOIQl FALSANE 29 66,267,000 66,267
= 12,486
< 19,880
Al 33,901
~EEAMH2Y 91,077 88,427 2,650
= 21,599
= 31,877
Al 37,601
307 2120l M 91,077 88,427 2,650




SH: ARSI XD
Ha: Zojel =2XEA

chel: Dojol=X LR LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
307 2IZ2t0lA = 21,599
& 31,877
Al 37,601
02 QItFAE X 91,077 88,427 2,650
O34y 23 91,077,000& 91,077
= 21,599
< 31,877
Al 37,601
SO KNI S AR THE A E S AL SR =S 59,400 52,800 6,600
= 29,700
Al 29,700
307 gQiz2told 59,400 52,800 6,600
& 29,700
Al 29,700
02 QItFAE X 59,400 52,800 6,600
OZ R XISASIHEAIE SAHL =X =
=4 59,400,000& 59,400
< 29,700
Al 29,700
OIS TIAL2EXE(7S) 10,000 25,400 15,400
& 5,000
Al 5,000
307 glz2told 10,000 25,400 A 15,400
= 5,000
Al 5,000
02 BlZtF&E=X 10,000 25,400 215,400
OEML=XANE 2H(78) 10,000, 000& 10,000
= 5,000
Al 5,000
U EStWE A 1,500 1,500 0
& 450
Al 1,050
307 glzZtold 1,500 1,500 0
& 450
Al 1,050




SH: ARSI XD
Ha: Zojel =2XEA

chel: Dojol=X LR LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 OI2tFAH X 1,500 1,500 0
OQ&Me 383t X 1,500,000& 1,500
= 450
Al 1,050
OO K E A ESA 12,000 12,000 0
& 3,600
Al 8,400
307 QIZt0IA 12,000 12,000 0
= 3,600
Al 8,400
02 OI2tHAH X 12,000 12,000 0
O&Me IHEEGE 29 12,000,000& 12,000
= 3,600
Al 8,400
NASERIIIPE S HHEHH K& 82,500 65,000 17,500
& 24,750
Al 57,750
301 Lert8A= 82,500 65,000 17,500
& 24,750
Al 57,750
01 MIBEHHZ2 82,500 65,000 17,500
OMdAS HOHCIII7 EsLHEH X3
82,500,000 82,500
= 24,750
Al 57,750
eI EXNAEHEEZ)HESH 14,320 11,200 3,120
= 7,160
Al 7,160
307 QI2tolA 14,320 11,200 3,120
= 7,160
Al 7,160
02 0QI2tHAEH X 14,320 11,200 3,120
OXMUEXAE HEZZ2OH 29
14,320,000 14,320
== 7,160
Al 7,160




SH: ARSI XD
Ha: Zojel =2XEA

CHol: EOHQIS X BRI (649 &8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O Blusz
ESHE 2sEN2Y 27,000 30,000 3,000
307 SI2t0lH 27,000 30,000 £3,000
02 BIAFAEE 27,000 30,000 3,000
OEZJHS 28 B 8k 2%
27,000,000 27,000
DOHQIMBAIL 29 73,130 34,960 38,170
201 ety 1,500 0 1,500
01 AtR22IH] 1,500 0 1,500
OFMANSH EX| 1,5002*1,00004 1,500
301 YstEAZ 8,400 7,000 1,400
09 BUILRABHZ 8,400 7,000 1,400
OBAILLY S| 5,000%! 6% *280L! 8,400
307 SI2H0IH 21,960 21,960 0
SEEEEEET] 3,000 3,000 0
OIBYBOIZHA THE X S|
3,000,000% 3,000
02 BIAAMBE 18,960 18,960 0
OXNMZHIES YUHE S X<
9,000,000% 9,000
OFMHFLME 2 9,960,000% 9,960
401 Al&HIL=2HY 30,000 6,000 24,000
01 A& 30,000 6,000 24,000
OF UM AR A8 X2+
30,000,000 30,000
405 RHaHE S 11,270 0 11,270
NI EEEEET] 11,270 0 11,270
OBZ0I8 28I 7Y 310, 0008 %1794 A 5,270
OLEI (BHO 5&II) 2
2,000,000 %374 & 6,000
DOHOI AL S 27,900 31,500 3,600
202 01t 2,000 2,000 0
01 =LHoTdl 2,000 2,000 0
OFfI LR xR 2,000,000% 2,000
301 YstEaAZ 1,900 1,900 0
10 SAAIHIR S 1,900 1,900 0

_16_




SH: ARSI XD
Ha: Zojel =2XEA

chel: Dojol=X LR LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZe JIsZIIa &It
100, 0003 2 2 400
Ogxigolel g &t 10,000& 50 * 12l 500
OFIIE HOjol BELEA HFAX
20,000& x50 *13] 1,000
307 QI2t0IA 24,000 25,600 A 1,600
04 BIZtHALE X 24,000 25,600 A 1,600
O&FOHCIel & SHAL 11,000,000& 11,000
OZJE HZoHel=H EFAX2 5,000,000& 5,000
OZ 0N AL &4 XHEXI& 8,000,000& 8,000
0 MREHH 29 72,857 70,735 2,122
& 25,500
Al 47,357
307 QIZt0IA 72,857 70,735 2,122
= 25,500
Al 47,357
02 QtFAE X 72,857 70,735 2,122
OZel MRESHH 2 72,857,000& 72,857
= 25,500
Al 47,357
A STAILLATXI (45) 10,262 12,316 A2,054
L= 5,131
Al 5,131
307 QIZt0IA 10,262 12,316 A2,054
& 5,131
Al 5,131
02 QItFAE X 10,262 12,316 A2,054
OZOMA=TAIE LLTXIR(4T)
10,262,000& 10,262
= 5,131
Al 5,131
SSHOMHQA S MeEdH 76,000 0 76,000
& 22,800
Al 53,200
307 QIZt0IA 76,000 0 76,000
& 22,800




SA
X XH .
(=

chel:

NEEy ('
Zojel =X
TojoI=x YK

SN HH G (EH) - MBAY - BYS Ak Soe s
307 2IZ2t0lA Al 53,200
02 plztFaEx 76,000 0 76,000
OSZZHO NBMEXAME 2SN
76,000,000& 76,000
< 22,800
Al 53,200
SHOH QI & M & X & 189,292 189,200 92
= 60,000
& 45,719
Al 83,573
O MATHEAN L2 S 73,792 73,400 392
= 60,000
& 11,069
Al 2,723
307 QIZt0IA 73,792 73,400 392
= 60,000
& 11,069
Al 2,723
02 fltFaEx 73,792 73,400 392
OFMANATIEAIL 2 (0/LAR)
73,792,000& 73,792
= 60,000
& 11,069
Al 2,723
ZoHelde E0IX& 115,500 115,800 A 300
L= 34,650
Al 80,850
307 2IZ2t0lA 115,500 115,800 A 300
& 34,650
Al 80,850
02 QItFAE X 115,500 115,800 A300
OO MET20 29 115,500,0002 15,500
& 34,650
Al 80,850
ECIE PN 13,858,284 12,264,645 1,593,639
= 7,401,314




SA
X XH .
(=

chel:

APE| = X 2t
o= A
co=x 2R

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s

= 151,836
& 1,970,279
Al 4,334,855

Lo =X 20X&A 11,209,852 7,903,488 3,306, 364
= 7,401,314
& 1,187,337
Al 2,621,201

I=L8H3 8,515,315 5,149,877 3,365,438
= 5,960,720
L= 510,919
Al 2,043,676

301 YEtEa= 8,515,315 5,149,877 3,365,438
= 5,960,720
& 510,919
Al 2,043,676

01 AMEHEE=SHZ3 8,515,315 5,149,877 3,365,438
OJI=Lg8dH3 8,515,315,000& 8,515,315
= 5,960,720
= 510,919
Al 2,043,676

I=MESHIO (UML) 117,417 140,040 A22,623
= 93,933
& 11,742
Al 11,742

307 gQiz2tolA 117,417 140,040 A22,623
= 93,933
& 11,742
Al 11,742

02 SltFAE=X 117,417 140,040 A22,623

OJI=Ma2d 20 (A4

117,417,000 117,417
= 93,933
& 11,742
Al 11,742

LoI=E20IURH 105,670 139,508 A 33,838
= 73,969




2AM: AtRIS X0
M Lol=XEA
CH9l: Lol=X 20X Crol 2l )
SN HH G (EH) - MBAY - BYS Ak Soe s
LoIE20I8RH = 15,851
Al 15,850
307 glz2told 105,670 139,508 A 33,838
= 73,969
& 15,851
Al 15,850
02 BIZHEANEZX 105,670 139,508 A 33,838
OkLel=20l 105,670, 000& 105,670
= 73,969
= 15,851
Al 15,850
SNLo ER0(S B otA 55,175 41,040 14,135
= 38,623
= 8,276
Al 8,276
307 2IZ2t0lA 55,175 41,040 14,135
= 38,623
& 8,276
Al 8,276
02 SltF&E=X 55,175 41,040 14,135
OsAHke &0/ otA 55,175,000& 55,175
= 38,623
= 8,276
Al 8,276
LOoIFENAE S NAIEXA 101,558 222,614 A 121,056
& 50,779
Al 50,779
307 glz2told 101,558 222,614 A 121,056
= 50,779
Al 50,779
02 BltFAE=X 101,558 222,614 A 121,056
OBMT S£224Z(2424)
101,558, 000& 101,558
& 50,779
Al 50,779
Lolgntel#s (ol dXtelXH) 1,333,627 1,287,000 46,627

_20_




S AEST D
M Lol= S

CH9l: Lol=X 20X (SHol:®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Lol EE (Ll gXtel X) = 666,813

& 333,407
Al 333,407

201 L3 46,400 40,000 6,400
= 23,200
& 11,600
Al 11,600

01 At=2teldl 2,400 0 2,400
Ok Xtel X 2,400,000 2,400
2 1,200
& 600
Al 600

02 =329l 44,000 40,000 4,000
OLoldRtel XI& 44,000, 000& 44,000
= 22,000
== 11,000
Al 11,000

206 M=l 3,300 10,000 6,700
= 1,650
= 825
Al 825

01 &l 3,300 10,000 6,700
Okl Xiel X 3,300,000& 3,300
= 1,650
& 825
Al 825

307 glz2told 1,283,927 1,237,000 46,927
= 641,963
& 320,982
Al 320,982

02 QItFAE X 1,283,927 1,237,000 46,927
Ol el X & 1,283,927,0002! 1,283,927
= 641,963
= 320,982
Al 320,982
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S AEST D
M Lol= S

CH9l: Lol=X 20X (SHol:®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
I AMGolgolA| 16,200 16,200 0
= 8,100
= 4,050
Al 4,050

101 QIZH| 16,200 16,200 0
= 8,100
& 4,050
Al 4,050

10 JIZtHZ2Z2NSES 16,200 16,200 0
O=xgdd|a dgoldd ol 16,200,000& 16,200
= 8,100
o= 4,050
Al 4,050

LORAANE JISES 197,784 0 197,784
= 98,892
= 98,892

402 RIZ2HX =0 197,784 0 197,784
= 98,892
& 98,892

01 QIZIRI=22 X 197,784 0 197,784
OLQIMEAIL Js2Y 197,784,002 197,784
= 98,892
o= 98,892

IR AIdZ20 767,106 0 767,106
= 460,264
& 153,421
Al 153,421

307 2IZ2t0lA 767,106 0 767,106
= 460,264
= 153,421
Al 153,421

02 QUAFAE X 767,106 0 767,106
OFIIRL AId=20 767,106,000& 767,106
= 460,264
= 153,421
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S AEST D
M Lol= S

CH9l: Lol=X 20X (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

Al 153,421

Lo=X LetXd 2,143,768 3,804,414 A 1,660,646
&2 18,108
= 704,550
Al 1,421,110

=SB L0 EsHEH X& 187,500 262,500 AT75,000
& 131,250
Al 56,250

301 YEtEa= 187,500 262,500 275,000
& 131,250
Al 56,250

01 A2 E =03 187,500 262,500 A75,000

OJZMEEE Lol YSUel X

187,500, 000& 187,500
< 131,250
Al 56,250

MOt I =SXAE2H 936,274 396,000 540,274
L= 290,664
Al 645,610

307 glz2told 936,274 396,000 540,274
& 290,664
Al 645,610

02 glztFaEx 936,274 396,000 540,274
OMIt==XNAIL2Y 179,550,000 179,550
< 53,865
Al 125,685

OZINQLEMINSH(MIIZHXXMEL2)

756,724,000 756,724
= 236,799
Al 519,925

LOoANER2Y 283,237 284,250 A 1,013
& 226,590
Al 56,647

307 glzZtold 283,237 284,250 21,018
= 226,590
Al 56,647
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SA
X XH .
(=

chel:

NEE!
Co=X S
OIS UBKKIH

SA-EH O (BH) - HBAY - B2 gggf; HRS2

02 QUBAEX 283,237 284,250 A 1,013
OLQANEEH 283,237,000& 283,237
& 226,590
Al 56,647

JHOISH L OIMEAIE2H 9,000 39,600 130,600
== 2,700
Al 6,300

307 QIZt0IA 9,000 39,600 30,600
= 2,700
Al 6,300

02 OI2tHAH X 9,000 39,600 A 30,600
O 2H =M EHA 29 9,000,000& 9,000
= 2,700
Al 6,300

MNASTHOFC-OIAIANBHE 61,424 40,500 20,924
= 15,399
= 15,356
Al 30,669

307 QIZ2to| A 61,424 40,500 20,924
= 15,399
= 15,356
Al 30,669

02 OI2tFAH X 61,424 40,500 20,924
OMAS MItL0l AAHHHE 61,424,000 61,424
= 15,399
& 15,356
Al 30,669

Lol AHAECH 1,580 1,580 0
= 909
< 237
Al 434

301 dEE8AZ 1,580 1,580 0
= 909
= 237
Al 434
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S AEST D
M Lol= S

ol LoI=X] YBHX (649 &8
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
TIEEEEEY E 1,580 1,580 0
OL-QIAYXE 1,580,0008! 1,580
= 909
< 237
Al 434
colgniel NEHAY 11,460 18, 150 16,690
= 3,438
Al 8,022
307 ©I2t0IF 11,460 18, 150 16,690
= 3,438
Al 8,022
02 QIABATE 11,460 8,150 16,690
OLolgxtel DEEAY 11,460,000} 11,460
< 3,438
Al 8,002
L0120 R ALY 6,600 6,600 0
= 1,800
= 1,650
Al 3,150
307 SI2t0lH 6,600 6,600 0
= 1,800
= 1,650
Al 3,150
02 QIZHAEE 6,600 6,600 0
OLolYXtel OFE AL (0l ZALR)
6,600,0002! 6,600
s 1,800
< 1,650
Al 3,150
COISAL U SIS Y 523,939 477,209 46,730
201 ety 4,000 3,120 830
01 ARl 1,500 1,120 380
O-QAIMAIY B8 S 2| 1,500, 00084 1,500
02 == 2,500 2,000 500
OEX KA 2,500,0002! 2,500
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SA
X XH .
(=

chel:

NEE!
Co=X S
OIS UBKKIH

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
202 O4Hl 2,000 3,000 A 1,000
01 SLHAHbI 2,000 3,000 A 1,000

OLoY0IsEXNLRF 2,000,000& 2,000
301 Lptsaazg 365,600 314,000 51,600
09 SUZIRRIABAZ 4,200 0 4,200
O3 Al 5,000 x3H 280 4,200
10 SAIAHIEANS 1,400 2,000 A600
Okl Ots2te s, 39 Mot HFAE
&t 7,000& 204 x102] 1,400
12 JIEIEAZ 360,000 312,000 48,000
O&xLolxY 20,000 *1,500H » 12 360,000
307 gQiz2tolA 102,339 105,089 AN2,750
02 QItFAEx 27,339 30,089 AN2,750
OZzgmz gy 22X XA 21,339
aralsl 1,450,000& *1H *12& 17,400
-4HEE= 17,400, 000& 8. 84% 1,539
-2 =l 200,000& x12& 2,400
O=AHLR JtdlolE & dESXMY 6,000
-Jtdiol& 5,000& 200X 1,000
-H= 5,000,000 5,000
04 BIZHHALE X 45,000 45,000 0
O0BolY AKX 45,000,000 45,000
05 QIZtEZ 30,000 30,000 0
Ooko & ots=Xz2 2¢ 30,000,000& 30,000
401 A &HIZ 204 50,000 50,000 0
01 Al&HI 50,000 50,000 0
Ok & ots=EXz2 X2l
50,000, 000& 50,000

SEZRX AL 22 60,980 10,700 50,280
201 Ler3| 5,000 5,000 0
01 AtR2teldl 5,000 0 5,000

O34EX & Ul 500,000& *103] 5,000
301 YotEa= 45,980 700 45,280
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S AEST D
M Lol= S

s Lol=X U@ (el &2)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
12 JIEt2 &3 45,980 700 45,280
OS4EX 848 Wset gsX&
7,0002 %252 *43] 700
OS4EX2e si# 7,000& x20E *23| 280
Ost¥&eia N 150,000& 300 45,000
401 A& HIL=2OYI 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
O3482X S N2 sz
10,000,000& 10,000
MNASEets A28 SN & 37,584 33,720 3,864
= 11,275
Al 26,309
301 ptEas 37,584 33,720 3,864
= 11,275
Al 26,309
01 A2 A =53 37,584 33,720 3,864
OMASLeI7 A28 E N
37,584,000& 37,584
< 11,275
Al 26,309
Loldiielgdgs(AHes waRd) 20,190 0 20,190
= 20,190
307 QIZt0IA 20,190 0 20,190
& 20,190
02 2AAEX 20,190 0 20,190
OAHE WHI2H 20,190,000& 20,190
= 20,190
Colgiielgads(gael #2ose NeXH) 4,000 0 4,000
& 1,200
Al 2,800
301 Lptsazg 4,000 0 4,000
= 1,200
Al 2,800
12 JIEtE4& 3 4,000 0 4,000
Oogitel ol WsXA 4,000,000 4,000
= 1,200
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SA
X XH .
(=

9l

NEEn!
Co=X S
CQI=X| ALK

SN C(BH) - NRAY - HES Aro Soe HlmE2

Al 2,800

A2 X2 354,664 476,743 A122,079
= 133,728
& 78,392
Al 142,544

ZA2AY REg4 63,756 54,720 9,036
= 15,955
= 15,939
Al 31,862

307 glz2told 63,756 54,720 9,036
= 15,955
& 15,939
Al 31,862

02 BIZHEANE X 63,756 54,720 9,036
OZEAG 224 63,756,0002 63,756
& 15,955
= 15,939
Al 31,862

B2 AGF AR I 24| 16,800 16,800 0
& 8,400
Al 8,400

307 giz2tol™ 16,800 16,800 0
& 8,400
Al 8,400

02 BIZHEANEX 16,800 16,800 0

OF2RAY HAE 012 Ng

16,800, 000& 16,800
< 8,400
Al 8,400

22| 187,860 186,000 1,860
= 117,773
& 28,179
Al 41,908

307 glztold 187,860 186,000 1,860
= 117,773
& 28,179
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SA
X XH .
(=

chel:

APE| = X 2t
IS
22an

SH-EFHHA(FA) - NIRAE - BES O AFH %Eﬁiﬁ Hlws2
307 QI20IH Al 41,908
02 SIZHAMBX 187,860 186,000 1,860
OFRg2YLityl 187,860,000 187,860
= 117,773
< 28,179
Al 41,908
A2Y AS 2 A S| 86,248 82,140 4,108
[ 25,874
Al 60,374
307 QI20|H 86,248 82,140 4,108
= 25,874
Al 60,374
02 SIZFHNEX 86,248 82,140 4,108
OARY ABIZAI 2| 86,248,0002! 86,248
< 25,874
Al 60,374
Lol XU E 150,000 80,000 70,000
ARAL =5 150,000 80,000 70,000
401 A&HL20H] 150,000 80,000 70,000
01 A& 150,000 80,000 70,000
OF2Y SHUSHAIY 150,000,000 150,000
22 9 0a=15 13,832,834 12,032,833 1,800,001
= 6,263,279
p] 12,743
= 3,481,970
Al 4,074,842
2SAHHA DX 11,144,377 9,269, 129 1,875,248
= 5,605,335
= 2,769,521
Al 2,769,521
PEDNELDS 8,560 8,560 0
= 4,280
[ 2,140
Al 2,140
307 QI20|H 8,560 8,560 0
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SA
X XH .
(=

chel:

At2| = K| 2t
25 € ogd=ssd
BEAHA F DX

SN I SRI(S) - NRAY - B sk Soe B RS2

307 glz2told = 4,280
& 2,140
Al 2,140

02 glztFaEx 8,560 8,560 0
OESAIZESAL £ 8,560,000 8,560
= 4,280
= 2,140
Al 2,140

SAXIHBI(ESAIE) 1,540,648 861,572 679,076
= 770,324
= 385,162
Al 385,162

307 QI2t0IA 1,540,648 861,572 679,076
= 770,324
= 385,162
Al 385,162

02 QtFAE X 1,540,648 861,572 679,076
OZ ALK Q121 1,540, 648,000 1,540,648
2 770,324
< 385, 162
Al 385,162

s MHsSESS 6,640,928 4,920,324 1,720,604
= 3,320,464
= 1,660,232
Al 1,660,232

307 QI2told 6,640,928 4,920,324 1,720,604
= 3,320,464
= 1,660,232
Al 1,660,232

02 QltF&E=X 6,640,928 4,920,324 1,720,604
OMaAs XAsSEE= 6,640,928,000& 6,640,928
2 3,320,464
< 1,660,232
Al 1,660,232

SAHOIY B2 XS 486,948 130,492 356,456
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SA
X XH .
(=

chel:

At = X ot
25 € ogd=ssd
BEAHA F DX

S FB SR (E) - NRAY - Be S Lo Soe RS2

ShEA BN =2 243,474
= 121,737
Al 121,737

307 220l & 486,948 130,492 356,456
= 243,474
= 121,737
Al 121,737

02 2Itda=2x 486,948 130,492 356,456
SXHHOIA 222 X2 486,948,0002! 486,948
= 243,474
= 121,737
Al 121,737

DHRFH(ESAE) 73,488 50,220 23,268
= 36,744
= 18,372
Al 18,372

307 gI2tol & 73,488 50,220 23,268
= 36,744
= 18,372
Al 18,372

02 2I2tda=2x 73,488 50,220 23,268
O+l 73,488,000 73,488
= 36,744
S 18,372
Al 18,372

HASSHERIIE X2 (=) 148,420 0 148,420
< 74,210
Al 74,210

301 etz 148,420 0 148,420
= 74,210
Al 74,210

01 A2 A =363S 148,420 0 148,420
OMASERIEINEXH 148,420,000 148,420
= 74,210
Al 74,210
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2AM: AtRIS X0
y: 25 9 HL=ISH

¢el EEAHA 20X (EH9|:® <)
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K glgg_":\ﬁ BlusZ
HeE2IH(ESAE) 27,064 2,400 24,6064
= 13,532
S 6,766
Al 6,766
307 G120l d 27,064 2,400 24,664
= 13,532
S 6,766
Al 6,766
02 2tHAEX 27,064 2,400 24,664
Oxtg=22l 27,064,000& 27,064
= 13,532
[ 6,766
Al 6,766
SN0 RAESE XA 1,047,224 892,560 154,664
= 523,612
(= 261,806
Al 261,806
307 QI2t0IH 1,047,224 892,560 154,664
= 523,612
S 261,806
Al 261,806
02 QIABHEX 1,047,224 892,560 154,664
Og5AIoH 222 X 1,047,224,000& 1,047,224
= 523,612
= 261,806
Al 261,806
SI(DIER)=XAILE JIsE22 49,000 346,460 A297,460
= 24,500
= 12,250
Al 12,250
402 QIEGE01M 49,000 0 49,000
= 24,500
= 12,250
Al 12,250
01 BIAR=2E=x 49,000 0 49,000
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ST ASI= XDt
y: 25 9 HL=ISH

¢el EEAHA 20X CER:E
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
O 2X(0IER)=EXAE JIsE2S
49,000,000 49,000
= 24,500
= 12,250
Al 12,250
OO RAEsE XA 354,280 303,292 50,988
= 177,140
= 88,570
Al 88,570
307 glztold 354,280 303,292 50,988
= 177,140
& 88,570
Al 88,570
02 QltF&E=X 354,280 303,292 50,988
OZot 2a2=s= XN 354,280,000& 354,280
= 177,140
= 88,570
Al 88,570
SIERIIE Ots2=Hl Y S| XA (=) 357,857 354,215 3,642
= 286,285
L= 35,786
Al 35,786
301 YBtEa= 357,857 354,215 3,642
= 286,285
= 35,786
Al 35,786
01 AMIE2HEHESHZ3 357,857 354,215 3,642
OstR2II1E THH=Hl £ SHHIXI#
357,857,000& 357,857
= 286,285
& 35,786
Al 35,786
EAlE 0I0180ts =X 409,960 0 409,960
= 204,980
& 102,490
Al 102,490
301 Lptsazg 409,960 0 409,960
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2AM: AtRIS X0
y: 25 9 HL=ISH

¢el EEAHA 20X CER:E
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
301 YEtEa= = 204,980
& 102,490
Al 102,490
01 ASIEEE=0H3 409, 960 0 409,960
ESAME 0101380t L=ENE
409,960,000& 409,960
= 204,980
< 102,490
Al 102,490
Es AL LEtX& 1,544,375 1,930,684 A386,309
& 459,468
Al 1,084,907
SI(0IER)=XALE2Y 14,955 15,000 A45
& 4,487
Al 10,468
307 glz2told 14,955 15,000 AN45
& 4,487
Al 10,468
02 SltF&E=X 14,955 15,000 A45
OZXH(DIER)=XNANE2S 14,955,000& 14,955
= 4,487
Al 10,468
SI(0IER)SXNAIE2G (0 LALR) 25,000 84,000 259,000
& 12,500
Al 12,500
307 QI2t0IA 25,000 84,000 259,000
& 12,500
Al 12,500
02 QUAFAEX 25,000 84,000 A 59,000
OZIHOIEZ)=SXNAE 2L (0ILAR)
25,000,000 25,000
= 12,500
Al 12,500
QIZIESAIEES WAL &I 540,000 671,760 A 131,760
& 194,400
Al 345,600
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2AM: AtRIS X0
y: 25 9 HA=ISH

el EEAHA B (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
307 2IZ2t0IA 540,000 671,760 A 131,760
& 194,400
Al 345,600
02 BIZHEAANEX 540,000 671,760 A 131,760
ORZAESAIE EFWA HRIHAUI
540,000, 000& 540,000
[ 194,400
Al 345,600
HERXNJASALA X<l 96,000 84,600 11,400
= 28,800
Al 67,200
307 2IZ2t0olM 96,000 84,600 11,400
& 28,800
Al 67,200
02 QItFAE X 96,000 84,600 11,400
OERXNASAX HLIH&HI 96,000, 000& 96,000
= 28,800
Al 67,200
ZOHOIE OB E =22 Y 71,400 39,000 32,400
= 21,420
Al 49,980
307 2IZ2t0lN 71,400 39,000 32,400
& 21,420
Al 49,980
02 QtFAE X 71,400 39,000 32,400
ORojoIotE S4n2ad 71,400,002 71,400
& 21,420
Al 49,980
HRXNJAESSAE WM w2 13,200 13,200 0
& 3,960
Al 9,240
307 glz2told 13,200 13,200 0
= 3,960
Al 9,240
02 Qa8 X 13,200 13,200 0
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ST ASI= XDt
y: 25 9 HA=ISH

o9 ESANUIA AV CrRL
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o HRE2
OFSNY 2SA& DM
13,200,002 13,200
= 3,960
Al 9,240
NELRE N 19,200 24,000 A4,800
= 5,760
Al 13,440
307 2120l 19,200 24,000 £4,800
= 5,760
Al 13,440
02 QIANTNEBE 19,200 24,000 4,800
ONAATE BFAL X2 9,200,002 19,200
= 5,760
Al 13,440
PRUA 2Y L e 305,740 292,300 13,440
201 st 2,240 2,800 2560
01 At 2,240 2,800 560
ORSIUANS BHLY
70,0002 +82 43| 2,240
01 YL 253,500 238,500 15,000
01 AEEIHAFZ 253,500 238,500 15,000
OLRI2AH X 97,500,000% 97,500
ORSALBAR BI254Y
72,000,0002 72,000
OEYEEE 84,000
~S ot 150, 00024 *360% 54,000
~SUTOF 01 & 300, 00024 #1002 30,000
307 2120l 50,000 51,000 A1,000
2 QIANTABE 40,000 40,000 0
OBSA& et X 40,000,000% 40,000
04 DIABARE 10,000 11,000 £1,000
OOIRI0IE £ HMSHE K& 7,000,008 7,000
OBSIM A9 & JE#A X2
3,000, 0008 3,000
HY0H BEX 246,996 473,082 £226,086
= 88,919
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2AM: AtRIS X0
y: 25 9 HA=ISH

el EEAHA B (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
HaHd EsXE Al 158,077
307 gQiz2tol™ 246,996 473,082 A 226,086
& 88,919
Al 158,077
02 BIZHEANEZX 246,996 473,082 A 226,086
OFgHY EsX& 246,996,000 246,996
< 88,919
Al 158,077
SENGES WA Sx222Y 81,600 0 81,600
= 57,120
Al 24,480
307 2IZ2t0lA 81,600 0 81,600
& 57,120
Al 24,480
02 QtFAE X 81,600 0 81,600
OS&X9 2SNA S4224g
81,600,000& 81,600
< 57,120
Al 24,480
IMEESUMAE 29 15,084 0 15,084
< 7,542
Al 7,542
307 2IZ2t0olM 15,084 0 15,084
& 7,542
Al 7,542
02 QItFAE X 15,084 0 15,084
OJIEESUANE 29 15,084,000& 15,084
& 7,542
Al 7,542
OANIOH 8 EZAIE 24 115,200 0 115,200
L= 34,560
Al 80,640
307 2IZ2t0lA 115,200 0 115,200
& 34,560
Al 80,640
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2AM: AtRIS X0
y: 25 9 HA=ISH

@ EEMUA dEHTA (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 OI2tFAE X 115,200 0 115,200
OOMNIOH &8s Ald 29 115,200,000& 115,200
== 34,560
Al 80,640
BRAIE J|EtE = 399,322 161,190 238,132
= 234,215
== 117,107
Al 48,000
= A4 FHlYl 2,000 2,000 0
= 1,000
& 500
Al 500
402 QIZ2HXE0| A 2,000 2,000 0
= 1,000
= 500
Al 500
01 QIZtX=2EX 2,000 2,000 0
OB =E A4 &EHdlb| 2,000,000& 2,000
2 1,000
= 500
Al 500
ESAE SHMNA(NES) 30,000 60,000 30,000
= 15,000
== 7,500
Al 7,500
401 AlZHIZLE204Y] 30,000 60,000 A 30,000
= 15,000
& 7,500
Al 7,500
01 Al&HI 30,000 60,000 30,000
OBSAL SBAMLOHES) 30,000,000% 30,000
= 15,000
< 7,500
Al 7,500
SBEAME SHINH(KRAXH) 40,000 0 40,000
|

_38_




AN A2 =X

HH: 8% 9 HA=KSH
& EFAIE D|gtEtE (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
401 AlZHIL 2] 40,000 0 40,000
01 A&l 40,000 0 40,000
OZ BA&0el0lE =0l &X
20,000, 000 *2JH 2~ 40,000
BSANE &5 327,322
= 218,215
& 109, 107
401 Al&H 327,322
= 218,215
& 109, 107
01 A&l 327,322
OE=SAl 327,322,000& 327,322
= 218,215
& 109, 107
g5 =1 690,055
= 423,729
J| 12,743
& 126,792
Al 126,791
JHE =4Ik 2/ =248 XI& 7,940
= 3,970
& 1,985
Al 1,985
307 212+0 7,940
= 3,970
& 1,985
Al 1,985
01 2z 7,940
OJts X 2l=8l XI&
7,940,000& 7,940
= 3,970
= 1,985
Al 1,985
HEANESAX 1,176
= 588
& 294
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2AM: AtRIS X0
y: 25 9 HL=NET

Gol: A=A 2DNE (258 8)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
HEAESAXN BEx-N= Al 294

307 QI2tolA 1,176 800 376
= 588
== 294
Al 294

02 QUZHBAEX 1,176 800 376
OWHEANEEAA ELXDR 1,176,000& 1,176
2 583
= 294
Al 294

IHEd=8AaEs 2Y 59,216 57,870 1,346
= 29,608
& 14,804
Al 14,804

307 QI2tolA 59,216 57,870 1,346
= 29,608
= 14,804
Al 14,804

02 QUZHEAEX 59,216 57,870 1,346
O g2 29 59,216,000 59,216
= 29,608
o= 14,804
Al 14,804

A0H0H LIoHA+ XXM EH 2L X2 333,820 228,106 105,714
= 233,674
= 50,073
Al 50,073

307 QIZt0IA 333,820 228,106 105,714
=2 233,674
= 50,073
Al 50,073

02 QI AE X 333,820 228,106 105,714

OXOHOHLIOHRF K& XME 2R

333,820, 000& 333,820
= 233,674
T 50,073
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¢ ARl =Xt

SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2

Al 50,073

Jts H == 1| o At = 18,204 25,500 NT,296
J| 12,743
& 2,731
Al 2,730

307 QIZtolA 18,204 25,500 NT,296
J| 12,743
& 2,731
Al 2,730

02 OI2tAAH X 18,204 25,500 NT,296

OJIE 84=Z=1diAt XI& g 2

A 18,204,000& 18,204
J| 12,743
T 2,731
Al 2,730

AL XN 3N 29 164,500 164,000 500
= 82,250
& 41,125
Al 41,125

307 QIZtolA 164,500 164,000 500
= 82,250
= 41,125
Al 41,125

02 Izt AE X 164,500 164,000 500

O AIHNEX 2

164,500, 000& 164,500
= 82,250
= 41,125
Al 41,125

OIOI=E20lXI&AIS 63,500 0 63,500
= 44,450
& 9,525
Al 9,525

307 QIZtolA 63,500 0 63,500
= 44,450
& 9,525
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2AM: AtRIS X0
y: 25 9 HL=NET

o9 olg=X 20X (5l &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 glggi; bRz
307 21201 Al 9,525
VECEIEPTES 63,500 0 63,500
OO0HOI S 20l X & 63,500,0002 63,500
2 44,450
= 9,525
Al 9,525
25t 22D ALY 41,699 0 41,699
2 29, 189
= 6,255
Al 6,255
307 2120l 41,699 0 41,699
2 29,189
& 6,255
Al 6,255
EEEEEES 41,699 0 41,699
OIS Y2 DSMY 41,699, 0002 41,699
2 29,189
= 6,255
Al 6,255
OlE =X LBHN & 54,705 103,400 48,695
= 9,082
Al 45,623
NZBRMXSADS 3,000 5,000 A2,000
307 21201 H 3,000 5,000 A2,000
VREIFIEPES 3,000 5,000 A2,000
ONZ 322 & QX3 $4DS
50,0002 *60% 3,000
ClEBAIRY 2 22 30,800 34,000 A3,200
201 eyl 6,000 2,000 4,000
RS 6,000 2,000 4,000
ON&DS A& 1,000,0002 1,000
OSSEA 0188 SHHE 1,500, 0002 1,500
OISR ML
70,0002 %53] *10% 3,500
202 o1t 2,000 2,000 0
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SA
X XH .
(=

chel:

At = X ot
25 # og=ssd
HE=X LeX&

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
01 =LHOIt] 2,000 2,000 0
OogEs YRFT 2,000,00084 2,000
301 YerEa3 2,800 5,000 £2,200
EREErT] 2,800 2,000 800
OOMEs 28l DS, 59 MOl 24
A 7,0009 %202 %203 2,800
307 212+0| A 20,000 21,000 A 1,000
02 QIAAMRZE 1,000 1,000 0
OO0l MAZAX 2SX
1,000,000 *13] 1,000
04 QIAARZE 19,000 20,000 A1,000
OREAS BHEE SIREE A
4,000,000 4,000
OO HFAHAS Y 15,000, 0002 15,000
ZEO0IQX 200K 8,005 35,900 ~27,895
= 3,202
Al 4,803
307 212+0I 8,005 35,900 ~27,895
= 3,202
Al 4,803
EEIEPEES 8,005 35,900 127,895
OZ=0I2K 820l D] 8,005,0008! 8,005
= 3,202
Al 4,803
N2 AP AR 2 1,500 1,500 0
< 1,500
307 212+0I A 1,500 1,500 0
= 1,500
02 QIANAMEZE 1,500 1,500 0
OALINF AL X & 1,500,0002 1,500
= 1,500
OlS Sotn2 StaAMHIA X 4,800 0 4,800
= 2,400
Al 2,400
301 Yer2aa 4,800 0 4,800
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SA

At = X ot

Bu: 98 U A=A
CHel oM =X YEXE &2
SN HH G (EH) - MBAY - BYS Ak e 2
301 YEtEa= = 2,400
Al 2,400
01 AMIEBEHESHZ3 4,800 4,800
Osotuzd ot MHlA XI& 4,800,000& 4,800
= 2,400
Al 2,400
AOHOHIIGH AL X2 AlE2Y 6,600 6,600
& 1,980
Al 4,620
307 QIt0IA 6,600 6,600
= 1,980
Al 4,620
02 QltF&E=X 6,600 6,600
O4& 0O LoHAt X2ANE2L 6,600,000& 6,600
= 1,980
Al 4,620
HdAUES 2 |4 378,877 A27,557
= 7,000
Il 6,500
& 36,550
Al 328,827
FadEEs 2 ME 208,377 N49,447
| 5,000
& 13,500
Al 189,877
F4E SE0=HM XA 17,500 0
& 7,000
Al 10,500
307 glztold 17,500 0
& 7,000
Al 10,500
04 BCIZtHALE X 17,500 0
OdAEUEEM=N N 17,500,000& 17,500
= 7,000
Al 10,500




2N
LR PN

gel 3

At = X ot

Q

HE

SN 1(BIH) - HISALY - Bl S Ao gggf; HRS2
Rt & 10,000 10,000 0
= 4,000
Al 6,000
307 212t 10,000 10,000 0
= 4,000
Al 6,000
04 B8lI2t+3 10,000 10,000 0
O&OH Hote EsAE
10,000,000 10,000
== 4,000
Al 6,000
HAEISHE X 170,877 181,824 N~ 10,947
201 LErEIH| 4,000 2,000 2,000
01 A& 4,000 2,000 2,000
O& A 2 EESHE S
=9 1,000,000& 1,000
@F~gS il 3,000& 1,000 3,000
301 Lot 21,600 22,824 N1,224
10 SHARA 21,600 21,600 0
OHAERSIHME ASH(129H1)
21,600,000 21,600
307 QI2t 145,277 157,000 A11,723
04 Q12+ 145,277 157,000 N11,723
O&#A4E 80,000,000& 80,000
O&Ad 30,000,000& 30,000
O=AH
35,277,000& 35,277
HAaHE S0t 10,000 10,000 0
J| 5,000
== 2,500
Al 2,500
307 QI2t0] 10,000 10,000 0
J| 5,000
= 2,500
Al 2,500
02 QUHBAEX 10,000 10,000 0

_45_




SA

At = X ot

Mo HAUES U sS4
el HAU23 2 AE Hel
SN SABA) - NEAY - BES &hen ?.%]ESE 2
SEPNEENEIETE 10,000,000 10,000
Il 5,000
= 2,500
Al 2,500
FAEXE ¥ 23 170,500 148,610 21,890
2 7,000
l 1,500
= 23,050
Al 138,950
FAHIRYS2INE (2 S) 14,000 14,000 0
= 7,000
Al 7,000
307 elztold 14,000 14,000 0
= 7,000
Al 7,000
02 UANHHEX 14,000 14,000 0
OHAHZRY 24 X (2
14,000,00024 14,000
2 7,000
Al 7,000
HFAEIRY2S XN (ZHI) 30,000 29,800 200
s 12,000
Al 8,000
201 Let=gll 8,000 0 8,000
= 3,200
Al 4,800
01 Ar2teldl 8,000 0 8,000
OZsdzRY2AN A (XFASH)
8.000,000& 8,000
= 3,200
Al 4,800
301 YerEaa 7,000 0 7,000
T 2,800
Al 4,200
12 JIet2a=s 7,000 0 7,000
OZsdzRY2AN(XsASH)
7,000,000& 7,000
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AN A2 =X

d: HAUES & |4
&l EAEUXE 2 B3 CER:E
_ _ _ HEC
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
02 3323l 2,400 5,160 A2,760
OXtgle AHel MIIMNER
200,000& * 101 2+ 122 2,400
301 etEd= 3,500 6,050 A2,550
10 AIAEHIZ2a = 3,000 5,550 A2,550
O&FAE & MY WE sHEs 2
30,0003 x20E x5 3,000
12 JIet2a=3 500 500 0
OFAdRoiaddl L= 500,000 500
401 AIEHIZ =0 3,000 0 3,000
01 Al&HI 3,000 0 3,000
OFAH0ARU RXA2el 3,000,000& 3,000
405 XtobESHI 2,500 0 2,500
01 L SESFHSHI 2,500 0 2,500
OFLVE=JCIDN; 20,0003 *50H 1,000
OdArE Ao 500, 000& *3H 1,500
A= ZtMIOH?I2 s 28X 3,000 3,000 0
p) 1,500
Al 1,500
307 g2Iz2tol A 3,000 3,000 0
p) 1,500
Al 1,500
02 QlztAAEx 3,000 3,000 0
O XMt Ee =28 N 3,000,000& 3,000
Il 1,500
Al 1,500
A4 dgdH 2 20,000 9,000 11,000
401 AIEHIZ=0Y] 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OFAENHUEH HEHS 2 20,000,000& 20,000
WESAXNZAL L st 2,437,920 3,288,904 /850,984
S 36,000
Al 2,401,920
LS D0 WM X 1,858,063 2,625,436 AT67,373




M MBS
g3 WFFAAS Wast

CHelr 2SN DAL 2X (cHel: & e
- _ _ ME
SN -FH . SA(BA) - HPAY - BES Ofl &F o8 il ot o HDZ2
SOEES DX 1,858,063 2,625,436 AT67,373
201 gty 2,520 2,520 0
01 At=2eltl 2,520 2.520 0
ONSSIMLSLRARE fId+g
70,0008 « 1224 x33] 2,520
202 Oddl 4,000 3,000 1,000
TEEEE 4,000 3,000 1,000
ONSSAMHE L HArHALD FT
3,000,000 3,000
OASI S XIAI ALY A 1,000,000 1,000
203 YPFTH| 11,000 2,000 9,000
03 AMFEALLEXY| 11,000 2,000 9,000
OMEIZX D AMFTY2FTY|
11,000,000 11,000
308 AHXIEHHI SOl & 1,840,543 2,617,916 ATT7,373
06 DIIBNUEEES 1,840,543 2,617,916 ATT7,373
OAl MM X2 At 384,500
XS, ¥ e 32,000,0002 *37H 1 96.000
-g s Sney 45,000
iD= 11,400,000 17§ 1 11,400
- RH2gn 4,200,0002 *87H 33,600
- RXIE X 2,200,000 +87H & 17,600
-S4NS2XE X 14,000, 000! x2JH 11 28,000
-HE ZSY0MH X
150,000, 0002 *17H 2 150,000
-SHA 3 21 o1 4 3,000,0002 +674 12 18,000
-S30 HeAds 1,300,0002 +2374 29,900
OYIIE 8 MY 591,825
-Z2S8W F0UEZWA X
40,000, 0002 *35%+ 1012 140,000
-ES50 A0 WA X
40,000, 000! *35%+9 11 126,000
-E28DE)| AY X
150,000, 00024 »35%+ 112 52,500
-S40S 2X NV (ES3)
14,000, 000! ¥25%+6.11 21,000
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EA: At3I =Xt
Nz DSEAXAS HAs
CHel: 2B DO DRAH EX

_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 0 Ak o4 il b o bRz
“HARIH 58 29
5,000, 0002 *20%+ 111 1,000
~BUS oaED 29 X8
77,550,000 *50%+33 2 116,325
~HEND BHES
500,000, 00024 %253+ 17§ 2 125,000
OLSH HSEXAL 864,218
-SEl2l SXTAHMAED)
71,600, 0002 %30% 21,480
“D2DH 2 HSAMEBAASED)
54,270,000 %30% 16,281
~SHAN U RHESTASEED)
82,908, 0002 %30% 24,873
~HOHEA PH(LRFD)
97,987, 000! *30% 29,397
(EHA SEZA(NEED)
783,748, 0002 %30% 235, 125
“DAERE JINW(SUER)
64,900, 0002 %30% 19,470
“DSELE N 58,638, 000! %30% 17,502
SIS AY(AED) 500,000, 0002 500,000
SDIAX 257,857 163,468 94,389
W34 X 257,857 163,468 94,389
201 sy 1,470 980 490
01 AR el 1,470 980 490
OstDIANAN AT ALY
70,0004 +7% +33] 1,470
308 XHXIEHH SOIH 256,387 162,488 93,899
06 DEJIBUHSARES 256,387 162,488 93,899
OB, YLD & 4 N (HYZH 2
0 ) 256,387, 0002 256,387
Ss3 Dnay 250,000 500,000 250,000
sss DnaYx 250,000 500,000 250,000
308 XHXIEHH SOIH 250,000 500,000 250,000
06 R=JBNSRES 250,000 500,000 250,000
OS43IDEEY NA(FLLD)
250,000, 00024 250,000
VELEIEES- 72,000 0 72,000
= 36,000
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SA

At = X ot

Zu: ps=xKAc s
el HeloldH2g CER:E
SN I SRI(S) - NRAY - B sk Soe B RS2
oelolgde=2dg Al 36,000
HeloldH2Z A 72,000 0 72,000
& 36,000
Al 36,000
307 QI2t0IA 72,000 0 72,000
= 36,000
Al 36,000
02 QltF&E=X 72,000 0 72,000
OeloledH2g XA 72,000,000& 72,000
= 36,000
Al 36,000
HMSISHA 25 101,880 115,228 213,348
& 25,000
Al 76,880
=R mE=PNE! 101,880 115,228 A 13,348
< 25,000
Al 76,880
A0 Z ol ALY 41,880 31,880 10,000
201 LEH23H] 11,880 0 11,880
01 Atf2teld 11,880 0 11,880
OsS&oE dizEX 990, 000& *12& 11,880
307 glz2told 30,000 31,880 A 1,880
02 SltFAExX 30,000 31,880 A~ 1,880
OsSd0s 23l X 30,000,000& 30,000
HEAS XS 10,000 18,100 28,100
307 QIZt0IA 10,000 10,000 0
02 glztFatEx 10,000 10,000 0
OS=d ofHi2I2 HRLE 2SN
10,000,000& 10,000
Ol=23t EMdte S0na 50,000 50,000 0
= 25,000
Al 25,000
308 AHXIHMSOIH 50,000 50,000 0
L= 25,000
Al 25,000
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o ARl =S X
D EMESIEHM 2=
D BN

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Aol Ol AF o8 HwsZ
06 LWSIIBUHEZES 50,000 50,000 0
OOIZ BHsts Yo na 50,000,000 50,000
= 25,000
Al 25,000
SR 149,100 50,250 98,850
= 50,000
Al 99, 100
MBS AR 149,100 50,250 98,850
= 50,000
Al 99, 100
AZOLH PR 49,100 50,250 A1, 150
201 er2o| 6,000 5,000 1,000
01 AtR2tel| 6,000 5,000 1,000
ORI 222 MH(S2HT 9 43)
5,000, 0002 5,000
OSIMAEIA D] 2AE 1,000,0002 1,000
202 OiHl 2,000 2,000 0
01 =0l 2,000 2,000 0
SEEEEEE 2,000, 0002 2,000
206 MRl 4,000 4,250 A250
01 =6l 4,000 4,250 250
OZCUCHAHIAE £ ZAH) 4,000,0002 4,000
301 YstPAS 8,100 6,000 2,100
12 JlEreaa 8,100 6,000 2,100
ORHSAE IMEISHB(50HL L)
5,000, 0002 5,000
04 SIMiAs U HEAA T
1,000,0002 1,000
OO ZEAY LAY S|
35,0002 %23 +302 2,100
307 QI2H0IF 29,000 32,000 A3,000
04 CIFHAEE 29,000 32,000 3,000
OAMENHZH OISH2TY X
9,000, 0002 9,000
OSAZH U SHHAKX 20,000,000 20,000
SR8 e SLAL 100,000 0 100,000
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2AM: AtRIS X0
HE: AZS MR

ST
ol AEQM YRR (£49: & 2)
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
SA2stHel SEAE s 50,000
Al 50,000
201 et 40,000 0 40,000
< 20,000
Al 20,000
01 AtR2cidl 40,000 0 40,000
OSA2aHel 22AMY 15,000,000 15,000
= 7,500
Al 7,500
OAMES & MAXA 25,000,000& 25,000
< 12,500
Al 12,500
202 044 2,000 0 2,000
= 1,000
Al 1,000
01 SLHAHbI 2,000 0 2,000
Ogael 2435 H2xX 2,000,000 2,000
S 1,000
Al 1,000
207 SO0 10,000 0 10,000
< 5,000
Al 5,000
02 HAHHEHI 10,000 0 10,000
OsA23atel HoIX+= 10,000, 000& 10,000
< 5,000
Al 5,000
307 gI2tol & 48,000 0 48,000
S 24,000
Al 24,000
04 QIZSHAIE X 48,000 0 48,000
OsAEsel g4dst=H 25,000,000& 25,000
< 12,500
Al 12,500
OMHBIA St us 3 A48 A
10,000, 000& 10,000
< 5,000
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2AM: AtRIS X0
HE: AZS MR

ol AEQIM A28 (EHo &8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
Al 5,000
OWXX HXI0 ¥ QIHEE X
10,000,000 10,000
< 5,000
Al 5,000
Osa2siel HESYXH 3,000,0002 3,000
< 1,500
Al 1,500
HHS A (ASI =X D) 63,640 47,660 15,980
01242 HH| (MBI =X ) 4,200 4,200 0
S A1l (AEI = X D) 4,200 4,200 0
203 PRETH| 4,200 4,200 0
04 SANSILREXY| 4,200 4,200 0
ORNSYYDEHI (3021015
350,0008! * 128 4,200
JI2ZHI(AEI =X D) 59,440 43,460 15,980
1= (AEI =X D) 59,440 43,460 15,980
201 ety 20,800 18,500 2,300
01 At=R2t2IH| 20,700 8,500 2,200
ORAN2Y AR 20,700,000 20,700
02 BZESYH 100 0 100
OSIIe® ez 100, 00084 100
202 o1t 33,640 24,960 13,680
01 =LHoIHl 38,640 24,960 13,680
OJI2 24801 (23%) 38,640,000 38,640
WEEEINEE Y 1,000,000 1,000,000 0
SN XI & (AF3I = X1 D) 1,000,000 1,000,000 0
ZOHI=NNSHES 200,000 200,000 0
702 JI2TES 200,000 200,000 0
01 JI2XES 200,000 200,000 0
OFofI=X0I2 200,000,000! 200,000
WU IS SHES 800,000 800,000 0
702 JI2TES 800,000 800,000 0
01 JI2EE2 800,000 800,000 0
OWEY Xtg =at3 =5 800,000,000 800,000
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